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QUESTION 1

Which is a type of issue?
A. An expected dis-benefit
B. An off-specification

C. A project outcome

D. A scope tolerance

Correct Answer: B

QUESTION 2

Which is NOT undertaken during the Initiating a Project process?

A. Review why the project is needed

B. Identify if the project is sufficiently aligned with corporate objectives
C. Show how the outcome is to be achieved

D. Appoint an Executive and Project Manager

Correct Answer: D

QUESTION 3

Upon what environment is PRINCE2 based?
A. Operational

B. Configuration

C. Programme

D. Customer/supplier

Correct Answer: D

QUESTION 4
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Which may be funded from a risk budget?

A. Corrections due to off-specifications

B. Impact analysis of requests for change

C. Implementation of a fallback plan

D. Preparation of the Risk Management Strategy

Correct Answer: C

QUESTION 5

If a project\\'s benefit tolerance is forecast to be exceeded, to whom should this be escalated to for a decision?
A. Senior User

B. Executive

C. Corporate/programme management

D. Senior Supplier

Correct Answer: C
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